g ESSAR Tve d L

B e T R T - R T, W

D 40 mm

i e REEEIELT,

'"'-: \::?;-m‘;--m TR PRCRSANARESe A e mes

[
s

e Pt ar’ i e,.a.-__-?.;,,.-..,,;;ﬁ”_- g " SR AL bR S Mo I T At DT D e e e e ) e T S R S SR L ST |:'--:"J_g._'.-r:';g-_'ﬁr..-::-:-.\,s_-_l:mﬁﬂmm:ﬁﬂ!ﬁm!m
. In the mechanism. as shown in Fig. 7.32. 04 and OB are two equal cranks at right angles rotating
about O at a speed of 40 rp.m. anficlockwise. The dimensions of the various links are as follows :
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Fig, 7.52

OA=0F=30mm . AC=BD=17 mm:DE=CE=75mm : FG= 115 nun and EF = FC"

Draw velocity diagraim for the given configuration of the mechanism and find velocity of the slider .
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The dimensions of various links i a mechanism, as shown in Fig. 7,33, are as follows :
AB=60mm: BC=400mm ; CD= 150 mm : DE =115 mm : and EF = 225 mun.

:-1——225 mm —»l 110 5

L3
rhrrriT
m

E
_Y
R R s s e “W’M’ﬂ*mmmﬂ*“*ﬂww s e
Fig. 7.33
Find the velocity of the slider F when the crank 4 B mtates uniformly in clockwise direction at a speed
of 60 r.p.m. [Ans. 250 mm/s]
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4.  Inalink work, as shown in Fig. 7.34. the crank 4 B rotates about .4 at a uniform speed of 150 rp.m.
The lever DC oscillates about the fixed point D, being connected to 4 B by the connecting link BC.
The block Fmoves. in horizontal guides being driven by the link EF, when the crank 4 B 1s at 30°. The

dimensions of the various links are :
AB=150mum : BC=450 mm ; CE =300 mm ;: DE = 150 mm ; and £F = 350 nmm.,

Find, for the given configuration, 1. velocity of slider F, 2. angular velocity of DC.
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Fig. 7.34
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